;llw choices are provided in few questions
Q1 - Q5 carry 1 mark each

Q6 - Q10 carry 2 marks each

Qi1-Q22 carry 3 marks each

Q23 carry 4 mark

Qz!l‘-— Q26 carry 5 marks each
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Q1. Draw velocity-time graph for an object undergoing uniformiy accelerated mation.

Q2. A ball is thrown straight up. What is its velocity and acceleration at the top?
Q3. If a man weighs 75 Kg on a stationary platform. What will be his apparent welght
~In a lit moving upwards with an acceleration of 2 m/s??
Q4. Define the term Conservative Force.

Q5. What provides the centripetal force to a car taking a turn on a level road?

- Q6. If two resistances i, = (640.2) Q and R, = (8£0.6) Q) are connected in series.
~ Find the maximum percentage error In the resistance of the combination,
. Q7. A car covers the first half of the distance between two places at a Speed of 40
Km/h and the second half at 60 Km/h. What is the average speed of car?
Q Find the value of 'n’ so that the vector X =:‘2i—3f+i?} and vector §=(37+4}"+ni'¢} are
dicular to each other,
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A car moving along a straight highway with speed of 126Km/h is brought to rest
ithin a distance of 200m. What is the retardation of the car and how long does it
[ake for car to stop?

The period of oscillation of a simple pendulum is T= 21t ‘E. Measured value of

L 5 20 cm known to Imm accuracy and time for 100 oscillations of the pendulum is

: i to be 90s using a wrist watch of 1s resolution. What Is the accuracy in the

' determination of g? | _
graphical method, derive the first and second equation of mation.
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)14 _Two vectors A and B are inclined at each other at angle. Using triangle law of
r addition, find the magnitude and direction of their resultant.
Use the method of dimensions, to derive an expression for the energy of a body
executing SHM; assuming this energy depends upon its mass 'm’, frequency v’ and
mplitude of vibration 'r’
16. Derive a relation for the maximum velocity of negotiating a curve by a vehicle
917, A mass of 200 Kg is resting on a rough inclined plane of 30 °. If the coefficient
riction is {8, find the least and the greatest forces acting parallel to the inclined

- plane to keep the mass in equilibrium.

u The velocity-time graph of an object moving along a straight line is shown in the

_ given figure. Find the net distance covered by the object in time interval between t=0
inddthe displacement in time 0 to 10s.
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t of mass 50g with speed 200m/s on soft plywood of
ith only 10% of its initial Kinetic Energy. What is
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o the earth wil the value of g be reduced by
15 Of Earth = 6400Km.
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22 'flw iy fiks 2 bullet of mass Sg with speed 200ms on s0ft plywood of
NS 2 o, The Dullies enesges with onily 10% of its intigl fGnete, Energy, What is
s of e Dules?
mﬁmammm A shell of miass 0.02 Kg is fired
9N of mass 100G, If the muzzie speed of the shell i BUm/s, then what is the
peed of e gue?
&ﬁhwmmeﬁMafmmmmrm of g be reduced by
the value 2 the surface? Padius of Earth = 6400K.

or
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" Q24 What Is projectiie? A

‘with horizontal direction, derive an ex the !
_ Fz pression for the 'Ti flight” - 3 2
time of fiight for an b S e

F projectile is projected with velocity u making angle 8
g iy ject projected with a velocity of 30m/s at an angle of 30° with
ha
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Q25. Define orbital velocity of a satellite and derive an expression for .
. Theperiad of moon around the earth Is 27.3 days and the radius of the orbit is 3.9
& ms Km. If G=6.67 x 10" Nm'kg™?, find the mass of the earth.
OR
Q25. Define Elastic collision, Consider two perfectly elastic bodies A and B of
masses m,and m, moving along the same straight line with inital velocities w, and
1, respectively (let 1,2 uy) undergoes head-on collision in 1D. Dorlve the expression
of thelr final velocities. Also write, what happens Il m, = m,
Q26. A body attached to a string of length "I’ describe a vertical circe guch that it
just able to cross the highest point. Derive the expression for the minimum velocity
at the bottom of the circle. Also find its value for string of length 1.5m tied o stone
of mass 0.4 kg.




